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INTRODUCTION:

Greek verbs can be divided up into 8 distinct classes. We will be using the standard
which was established in the 19" century in An Elementary Greek Grammar by William W.
Goodwin, originally published in 1870.

WHO IS GOODWIN?

Professor Goodwin was born 9 May 1831 and studied classical Greek with textbooks
written in Latin. He graduated with his BA at age 20 and then obtained his Ph.D. at age 24 at
Harvard College. From 25 to 29 years old, Goodwin tutored at Harvard College. Then in 1860 he
was promoted to Eliot Professor of Greek Literature, a position which he held until his
retirement at age 70 in 1901. During these years, Goodwin was an editor for the 7" edition of the
Scott’s and Liddell’s Greek/English Lexicon and wrote several textbooks on the Greek language.
He was at Harvard College during the years of Professor William James, who was the founder of
the American Study of Psychology, and several other leading scholars of the late 19" century.

THE EIGHT CLASSES:

In the 8 classes, both 1%t and 2" aorist verbs appear mostly without a clear connection
between class and 1% or 2" aorist group. The classes are morphological classes, opposed to the
1%t and 2" aorist distinction, which separates the aorist verbs based on which set of endings they
entail and whether or not the verb contains a sigma or sigma-alpha. These 8 classes are
categorizing the verbs in a different way, based on the roots of each verb and how they change
based on tense in a certain fixed pattern.

We can examine our own English language and find a regular verb create in the past
tense becomes created. Another regular verb walk becomes walked. We call these verbs the
Simple Class or Class I since they have regular simple endings. In Greek, these will be verbs
which follow a pattern of adding sigma alpha to the original stem and normal 1% aorist endings.

Other verbs have vowel patterns which change depending on the tense. For example, the
verb eat becomes ate, meet 2 met, lead =2 led, read = read, sing = sang, throw = threw,
know - knew, take - took, run - ran, awake - awoke, etc. We will classify these verbs into a
separate class in Greek to match our English examples. We will call these verbs the Lengthened
Stem or Class II.

There are other verbs in English, which do not add an -ed but instead add a -t ending.
Although the English equivalent is not identical to the Greek T Class, we can use these types of
verbs as an example of how English has a similar process of differing patterns. The verb feel
becomes felt with the vowel becoming shorter with the attached t instead of ed ending. We can
call this the T Stems or Class I11. Other verbs in the Class I11 would include: sleep = slept, creep
- crept, leap =2 lept, etc.

There are some English verbs which attach the letters -en to the stem to form the past
perfect. These are similar to the N Class in Greek, which is Class V. These English verbs include
fall - fallen, forget - forgotten, forbid - forbidden, steel - stollen, awake = awoken, arise



- arisen, beat > beaten, bite 2 bitten, break = broken, hide = hidden, overtake = overtaken,
shake - shaken, swell = swollen, write = written, etc. In Greek, we find words like povOdvo
have the N in the present and lose it in the future and 2" aorist past. This pattern is not exactly
what we find in English, where the -en is added in the perfect tense and absent in the present
stems, but it is close enough to help us understand how Greek works and what we are learning
about with Greek verb classes.

Other English verbs have the stem change completely, like the verb bring = brought,
which follows neither the pattern of Class 1l which would have created brang, a word still
uttered by hillbillies today, or the Class I, which would have created bringed, a word still uttered
by small children. Instead, this verb changes the entire stem from bring to brough- before adding
the final -t. This verb will be viewed as irregular, since it follows no certain pattern. Other
irregular verbs include bet, spit, cut, cost, etc., which all never change in the past or present
forms.

Kindly note that after Harvard’s Eliot Professor Goodwin retired, his replacement
Professor Herbert W. Smyth restructured the 8 verb classes into only 6 verb classes, combining
classes 1, 2, and 7 into a single group called Class I. As a result, each other class (hamely, classes
3 to 8) got bumped back a digit or two. So, Goodwin’s Class 111 became Smyth’s Class II.
Goodwin’s Class IV became Smyth’s Class Il1. Then lastly, Goodwin’s Class VIII became
Smyth’s Class VI. Because Goodwin was more careful to differentiate between his classes 1, 2,
and 7, in this textbook, we will be using Goodwin’s 8-Class System in order to help us
understand the differences in each class better. Although Smyth wasn’t wrong, per se, to
organize them differently in his textbook, because there is the option to use different systems, the
preference of the author of this textbook is to use Goodwin’s original work, which was standard
from the mid-1800’s to the early 1900’s nationwide.

Goodwin’s Classes Smyth’s Classes

CLASS I CLASS I

CLASS I CLASS | (as a section of the group)
CLASS 1 CLASS 11

CLASS IV CLASS I

CLASS V CLASS IV

CLASS VI CLASS V

CLASS VII CLASS | (as a section of the group)
CLASS VIl CLASS VI

SECTION 1: The Main Verb

CLASS I: Unchanged Stems (like regular verbs in English ending in -ed).

The first class of verbs in Greek has the same stem in the present form as the several past tenses
and the future tense. For instance, Ao (I loose) is a Class | verb since it does not change or alter
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its stem in the 1t aorist tense. These are the verbs which use the same present stem in the past
tense, only adding the augment to the front and the sigma/alpha to the end.

Present Active Indicative Forms:

Mo | loose Adopev we loose
Aoelg thou loosest Aoete ye loose
Aoet he / she /it looseth  Avovov they loose

15t Aorist Active Verbal Forms:

g\voa | loosed gAOoapEY we loosed
glvoag thou loosedst gldoarte ye loosed
g\voe he /she /it loosed  &\vcoav they loosed

Part of Class | verbs contains a subcategory of certain verbs which retain the original stem but
use a doubled consonant instead of the beta, pi, or phi plus the sigma.

Brénw 2> EPLemcoa = EPreya
Ypapm > Eypagoa = Eypaya

In this class, Préno (1 see) is a Class | verb since the 1% aorist stem Bren- is and is the same
Biem- stem as the present stem. Examples of Class | verbs are Aéno (1 see) and ypaow (I write),
kth. The Class | verbs are 100% 1% aorist verbs by default.



CLASS II:

Lengthened Stems (like in English sing = sang/sung, or eat - ate, or throw - threw,
etc.). We should expect almost 100% 2™ aorist verbs in this class, with the only exception being
the 1% aorist asigmatic (no sigmal) as in péveo = &uewa.

These are verbs which have different vowel lengths in the present and aorist forms. Some
types of verbs have lengthened vowels in the present stem, which shorten in the other tenses. For
example, the verb Asimo (I leave) with the diphthong in the middle becomes the 2" aorist &umov
(1 left) with a short iota in the past tense. In the same way, other verbs like péve (I remain),
which have a short vowel in the present stem, become the 1% asigmatic aorist uewva (I remained)
with a diphthong in other tenses. Either the vowel length is shortened or lengthened in Class 11
verbs. Compare the present to the aorist past tense of these two sample verbs and notice the
changes in vowel length.

Present Active Indicative Paradigm: Long Diphthong «t.

Aeinm | leave Aeimopev we leave
Aeimelg thou leavest Aeinete ye leave
Aeimel he/she/it leaveth Aeimovo(v)  they leave

2" Aorist Active Indicative Paradigm: Short Vowel t.

EMmov | left Elimopev we left
gMmeg thou leftest ENimete ye left
Enme(Vv) he /she /it left gEMmov they left

Note how the vowel goes from long to short above, like English examples meet - met, lead 2>
led, etc. Notice how all these English examples have a diphthong in the present tense become
shorter in the past tense.

English Examples:

1. PRESENT: Today James meets his boss today.
PAST: Yesterday James met his boss.
2. PRESENT: Ceasar leads the army to battle against the Germans.
PAST: Many years ago, Ceasar led the army to victory, declaring, “Veni, vidi, vici!”

The same phenomenon happens here in English as we see in Greek for Class Il verbs.
Present Active Indicative: Short Vowel

HEV®D | remain pévopev we remain



LEVELG thou remainest UEVETE ye remain

LEVEL he /she /it remaineth pévovot they remain

1%t Aorist Asigmatic Paradigm: Long Diphthong .

guewva | remained gueivapey we remained
guevag thou remainedst gueivate ye remained
gueve(v) he/she/it remained  &uewvav they remained

Note here how the vowel goes from short to long, opposite of the first example. These verbs are
similar to the English present verb to be going from a single e to a diphthong with a double ee in
the past perfect form been. In the same way, be changes into been, péve becomes uewva.

A. The second class of verbs in Greek has a different vowel gradation in the present stem
than in the past and/or future. These verbal stems end in mutes. For instance, uéve and
Aeinw are Class 1l verbs since their aorist stems have a different length of vowel than in
their present stems. Note: nu and pi are both mutes, thus the change in vowel gradation.
Compare: pévo (I remain) 2 Euewa (I remained) and Aeino (1 leave) = Elurov (I left).
Examples of Class Il verbs are péve, Aeinw, droxteivo.

B. There are also 6 distinct verbs which end in -ew, which are part of this class. Originally
these verbs contained the digamma, historical 6" letter of the original alphabet, which has
since dropped out. Note: The digamma is also called stigma in later times and remained
in use for numerical purposes.

Before and After the Digamma Dropped Out:
véF® ---> vém (to swim)
0éF® ---> B (to run)
mAéFo --->mAéw (to sail)
nvéFo ---> nvéwm (to breathe)
péFm --->péw (to flow)
réFw ---> yéw (to pour)
CLASS 1I: T Class.

The third class is made up of verb stems ending in a simple labial consonant, namely: B, =, o,
which add a t in the present verbal form but nix the t in all other tenses. An example can be
found in English verbs ending in -t instead of -ed. Unlike the English, which has the -t only in



the past tense, the Greek will have the t only in the present tense. The t will be missing in all
other tenses.

For instance, xoénto (I strike) is a Class III verb since it ends in a -mto in the present. Note that
the T will only be in the present form. Example: komtw (I strike) only includes the t in the
present. Once in the past or future the t disappears. The 1% aorist becomes &xoya [*Ekonca] (1
struck) and koy [*kéncw] (I shall strike).

Compare the following charts.

Present Active Indicative Paradigm: there is a tau.

TOTTO | strike TOTTOUEV we strike
TOTTELG thou strikest TOTTETE ye strike
TOTTEL he/she/it striketh TOTTOVGLY they strike

1% Aorist Active Indicative Paradigm: there is no tau.

Eroya | struck ETOYOEY we struck
groyag thou struckest groyorte ye struck
groye(v) he/she/it struck gtuyov they struck



CLASS |V: lota Class.

The fourth class includes all verbs which include a proto form with the iota in the original stem
before metathesis occurred. Historically the verb Baive (I go/walk) used to be *Boavie with the
iota after the nu. At some point in time, the iota jumped to the other side of the nu to get the form
we find today.

Present Active Indicative Paradigm: with the v in the stem.

Baivo I go Baivopev we go
Baivelg thou goest Boaivete ye go
Baivet he/she/it goeth Baivovoi(v)  they go

2" Aorist Athematic Indicative Paradigm: no iota.

EPnv I went EPnuev we went
&g thou wentest Epnte ye went
£pN he/she/it went gpnoav they went

Present Active Indicative Paradigm: Proto faim = BaiAw.

BoAro | throw Barropev we throw
Borrerg thou throwest Borrete ye throw
Barret he/she/it throweth Bariovat they throw

2" Aorist Active Indicative Paradigm:

gParov | threw éParopev we threw
EPakeg thou threwest EPdrete ye threw
EPakev he/shefit threw gBarov they threw

All of these above should be viewed as having a historical iota which switched places into the
middle of the present stem and does several other unique moves in the other tenses.



CLASS V: N Class.
The fifth class include all the verbs which added a -v / -, and/or -av to the original stem.

A. Examples include the famous classical forms of pavoave (I learn) and Aapfave (1 get), which
include spurious nasals between the 2" and 3" consonants of their root stems. Note how the
nab- becomes pavo- (with the nu jammed between the alpha and theta) and the Aafp- becomes
Aoup- (with a spurious mu jammed between the alpha and beta). In Modern Greek we find the
nasals in certain cases dropped back out in the first positions and are replaced with the purer
forms poBaive (I learn) and in the longer form of kotolaBaive (I understand), where the nasals
are no longer included in the standard spelling of the present forms. Modern Greek still has the
nasal in LauPave (1 get), even though xatoroufave (I understand), the same stem with a prefix,
loses the mu in the present form and becomes katolafaive (I understand). Kindly notice how
the final nasal is always retained in all these forms in Classical and Modern forms.

Example #1.

Classical Greek Present Active Indicative: a nasal is inserted between the first alpha and theta.

povBavem I learn povBdavopev  we learn
povBavelg thou learnest povBavere  ye learn
novOdavet he/she/it learneth pavbavovowy  they learn

Compare to the Modern Standard Greek forms: no nasal between the first alpha and theta.

pobaive I’m learning nobaivoope  we’re learning
pobawvelg you’re learning pobaiverte you guys are learning
poabaivet he’s learning uabaivovy  they’re learning



In both Classical and Modern Greek, the 2" aorist forms only include the pure stems: &uafov
and &loPov, even though Modern Greek ends in -a (épabo and élafa) opposed to the Classical
forms.

Classical Greek 2" Aorist Active Indicative: the nasals all disappear.

gnabov | learned guabopev we learned
gnobeg thou learnedst gnabete ye learned
gnabe(v) he/she/it learned guabov they learned

Modern Standard Greek Aorist Active Indicative: the nasals all disappear.

énobo | learned nabope we learned
Enodeg you learned uabote you guys learned
énode he/she/it learned énobov they learned
Example #2.

Classical Greek Present Active Indicative:

AapBave | get AapPavopev we get
Aoppavers  thou gettest AopPavete ye get
Aoppavet he/she/it getteth Aoppavovoty they get

Modern Greek Present Active Indicative:

Aoppave I’m getting AouBavooue we’re getting
Aoppavelg you’re getting AouPavete  you guys are getting

Aoppdver he/she/it is getting  AouPavovv  they’re getting



Classical Greek 2™ Aorist Active Indicative:

gErafov | gat ENGPouev
Elafeg thou gattest EMGPeTe
Elafev he/she/it gat Enapov

Modern Standard Greek Aorist Active Indicative:

Elafa | got AaPoape
EhaPeg you got AaPoate
Ehafe he/shel/it got Enafav
Example #3.

Classical Greek Present Active Indicative:
Kotolopféve | understand
KozodopPavelg thou understandest
KataAappavet he/she/it understandeth

Modern Greek Present Active Indicative:

KOTOAQUPAvVm I’m understanding
KotohapuPavelg you’re understanding
KataAopupavet he/she/it is understanding
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we gat

ye gat
they gat

we got

you guys got
they got

KaToAapPavopuey
KatohopPavete

KatoAappavovoty

Kataloppavoopue
KatolopPavete

KatoAapPavovy

we understand
ye unterstand

they understand

we’re understanding
you’re understanding

they’re understanding



Classical Greek 2™ Aorist Active Indicative:

Katéhafov | understood
Kotéhafeg thou understoodest
Kotélafev he/she/it understood

Modern Standard Greek Aorist Active Indicative:

KatdAapo | understood
KatahaPeg you understood
KatahoPe he/she/it understood
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KateAdPouev
KateAdPete

KatéAafov

KaTaAdPope
KataAdPote

KaTaAaBov

we understood
ye understood

they understood

we understood
you understood

they understood



B. So far, the Class V forms which we have looked at included a 1% nasal which was inserted in
the middle of the stem (i.e. haup- and pave-) as well as a 2" nasal at the ending (i.e. -av).
Besides these more complex Class V verbs, there are some verbs which only have an -v or -av
attached to the end of the present form of the stem without anything inserted in the middle.

Examples of the simpler forms of Class V include: nive (I drink) = £mov (I drank), auaptave (I
err) 2 fluoptov (I erred), etc. In all these cases the -v or -av is only in the present form of the
stem. Let us examine the present and past forms of the Greek word for to drink in both classical

and modern forms.

Classical Greek Present Active Indicative:

Tivo | drink nivouev
TVELG thou drinkest TvETE
TiveL he/she/it drinketh TivovoLy

Modern Standard Greek Present Active Indicative:

Tivo | am drinking nivooue
TVELG you’re drinking nivete
Tivel he/she/it is drinking Tivouv

Classical Greek 2" Aorist Active Indicative:

we drink
ye drink
they drink

we’re drinking
you’re drinking

they’re drinking

gmov | drank Emiopev we drank
Emieg thou drankest Emiete ye drank
gmev he/she/it drank gmov they drank

Modern Standard Greek Aorist Active Indicative:

nmo | drank Nmope we drank
Nmeg you drank NTOTE you guys drank
nmie he/she/it drank NIV they drank
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CLASS VI: -SK/-ISK Class.
The sixth class include all verbs which added either a -ckm or -iok to the original stem.

Example #1. The verb ebpiokm (I find) is a Class VI verb since the present stem end in -ickw,
which equals the stem evp + ioko. Note: the 2" aorist form ebpov (I found) does not have the -
iokw attached anymore, neither does the future form ebpriow (I shall find) have the constituent -
iokm anymore attached.

Classical Greek Present Active Indicative:

eupiok® | find evpiokopev  we find
EVPIoKELC thou findest eVpioKeTe ye find
gVpioKeL he/she/it findeth evpiockovowy  they find

Modern Standard Greek Present Active Indicative:

Bpiokw I’m finding Bpickovpe  we’re finding
Bpiokelg you’re finding Bpiokete you’re finding
Bpioket he/she/itis finding  Ppickovv they’re finding

Look closely at how both Classical and the Modern shortened forms include the ISK in the
present forms. Then compare to how they are missing in the past tense.

Classical Greek 2™ Aorist Active Indicative:

gopov | found g0popEV we found
g0peg thou foundest g0pETE you guys found
gopev he/she/it found gopov they found

Modern Standard Greek Aorist from the original Perfect Tense:

Bprka | found Bprkape we found
Bprkog you found Bprikate you guys found
Bprike he/she/it found Bprkav they found

In the case of this example, the Modern Greek verb retains the archaic stem from the perfect
tense, ebpnka (I have found) = Bprka (I found) which has not been formally taught in this
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textbook or class yet. The following chart is an illustration of how the classical perfect chart just
became a little bit shorter in the modern form.

Classical Perfect > Modern Standard Greek Aorist Past Tense:

gbpnka 2> Pprko | have found evpNKauEY =2 Pprkape we have found
ebpnkac =2 Pprkag  thou hast found gupnkate 2> Pprkate ye have found
ebpnke 2> Ppnke he hath found ebpnkav 2> Ppnrkov they have found

Example #2. This example will only be from the Classical and Koine Period, since the modern
Greek word Eépw replaces yryvdoko in normal everyday speech. Look carefully at how the ISK
IS present in the present tense and absent everywhere else.

Classical Present Active Indicative:

YIYVOOK® | know YIYVOOKOUEV we know
yiyvookelg  thou knowest YUYVOOKETE ye know
YUYVOOKEL he/she/it knoweth YYVOOKOLGLY they know

2" Aorist Athematic Active Indicative:

Eyvov | knew gyvouev we knew
Eyvag thou knewest gyvorte ye knew
Eyvo he/she/it knew gyvooov they knew
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CLASS VII: E Class.

The seventh class include all the verbs whose stem end in -¢. For instance, eiAém (I kiss / am
friends with) is a Class VI verb since the stem ends in an epsilon. Note: the aorist form épiinoa
(I kissed) and the future form eunow (I shall kiss) have a lengthened n instead of the short €
stem-ending.

Classical Uncontracted Original Form of Present Active Indicative:

PE®D | kiss QuLéopev we Kiss
QULEELS thou kissest Quéete ye Kiss
QUAEEL he kisseth QULEOVOLY they Kiss

Modern Standard Greek:

QD I’m Kissing @ULOVUEV we are Kissing
QULAG you’re Kissing Qu\ate you guys are Kissing
QG he/she/it is kissing  ¢@ulovv they are Kissing

Classical Greek 1t Aorist Active Indicative: with the long 7.

gpiAnoa | kissed gpuioopev  we kissed
gpilnoag thou kissedst gpinoate  Ye kissed
gpilnoev he/she/it kissed gpilnoav they kissed

Modern Standard Greek: with the retention of long 0.

eilnoca | kissed QUMNCOLE we kissed
eilnoeg you kissed Qucate you guys kissed
¢iknoe he/she/it kissed eiinocav they kissed

15



CLASS VIII: Mixed Class.

The eighth class is a hodgepodge of everything which is random or somehow irregular to the
other seven distinct classes of verbs. We find here a lot of 2" aorist verbs, some 2" aorist which
were confused with 1% aorist to the extent of approx. 50% 1% and 50% 2" aorist in usage.

Example #1. Pay close attention to the stem change entirely in the following verb.

Classical Greek Present Active Indicative:

Aym | say Aéyopev
Aéyelg thou sayest Aéyete
Aéyet he/she/it saith Aéyovoi(v)

Modern Greek Present Active Indicative:

M I’m saying Aéue
Aeg you’re saying Aéte
Aégt he/shel/it is saying Aéve
Classical 2" Aorist Active Indicative:

ginov | said elnopey
gimeg thou saidst ginete
gine he/shel/it said gimov
Modern Standard Greek:

elma | said elmaype
eimeg you said elmate
eime he/she/it said elmav
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we say

ye say
they say

we’re saying
you guys are saying

they’re saying

we said
ye said

they said

we said
you guys said
they said



Example #2. The stem for the verb opdw (I see) is altered significantly in the other tenses. The
new stem -16 appears in the past tense apparently coming from the present form opdaw. We find
that idov (I saw) is regularly used in place of the aorist #BAeya (I saw) which comes from the
stem BAénw. In Modern Greek, there has been a complete reinsertion of the aorist past tense
gidov (I saw) in the place of the 1% aorist form &Breya (I saw).

Classical Greek Uncontracted Present Active Indicative:

Opam | behold opdouev
opdelg thou beholdest opbete
opaset he/she/it beholdeth  opdovov

Classical Greek Present Active Indicative:

BAénm | see BAémopev
BAémerg thou seest BAénete
BAémet he/she/it seeth BAémovoy

Modern Standard Greek Present Form:

BAET® I’m seeing BAémovpe
BAémerg you’re seeing BAénete
BAémet he’s seeing BAémovv
2" Aorist Active Indicative:

eidov | saw gidopev
£10eg thou sawest gidote
gloe he/she/it saw gldov
Modern Standard Greek Aorist Chart:

eloa | saw eloapev
eldeg you say eloate
€ide he/she/it saw gldav
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we behold
ye behold
they behold

we see
ye see

they see

we’re seeing
you’re seeing

they’re seeing

we saw
ye saw

they saw

we saw
ye saw

they saw



Example #3. Notice how similar the Classical Greek form of the middle deponent verb is to the
present Modern Standard Greek usage. The depondent form is only in the present. In the aorist,
we find regular primary active endings. With this strange feature and the entire change of the
stem from present to past tense, we categorize the verb in Class VIII with the random ones.

Present Active Indicative:

Epyopon | come
Epym thou comest
Epyetan he cometh

Epyoueda

&pyeobe

Epyovtan

Modern Greek Present Active Indicative:

gpyopan I’m coming
gpyeoat you’re coming
gpyeTon he/she/it is coming

2" Aorist Active Indicative:

f\Oov | came
M0eg thou camest
M0 he/she/it came

Modern Greek Aorist:

npda | came
npdeg you came
npoe he/she/it came

EpYOLOOTE

Epyeote

Epyovtal

fABopev
fABete
nAdov

npdapuev
npBate
npdav
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we come
ye come

they come

we are coming
you are coming

they are coming

we came
ye came

they came

we came
ye came

they came



SECTION 2: The Participle

1.

Example #1. Present Active Participle Paradigm for Abw| Class I, Unchanged Stem:

CLASS I

nom. Adov Adovoa Abov

gen. Abdovtog Avobvong Abovtog
dat.  Avovt Avovon Adovti
acc.  Avovta Adovcav Adov
nom. Avovteg Adovoat Adovta
gen. Avoviov Avovodv Avovtov
dat.  Avovouv) Avovcaug Aovoy(v)
acc.  Avovtog Avovoog Adovta

Present Middle/Passive Participle Paradigm for Ao | Class I, Unchanged Stem:

nom. Avopevog Avopévn Avopevov
gen.  Avopévov Avopévng Avopévou
dat.  Avouéve Avopévn AVOUEVE
acc.  Avoupevov Avopévnv Avouevov
nom. Avopevol Avoueva Avopeva
gen. Avouévav Avopévev Avopévev
dat.  Avouévorig Avopévarg Avopévoig
acc.  Avopévovg  Avouévag Avopeva

1%t Aorist Active Participle Chart for Mo | Class I, Unchanged Stems: &\vca.

Aboag AMcaca Aoy
AGovTog Avcdong AdGovToC
Adoavtt Avcdon AdboavTt
AoovTa Mvoocav Moav
MoovTeg Moaoat Aboovta
Avcaviov Avcaocdv Avcaviov
Mvooov Avcdooig AMvcoov
AMdcavtog Avcdocog Adcavta

1% Aorist Middle/Passive Participle Paradigm for Abw | Class I, Unchanged Stems: &woa.

AVGApEVOC Avcopévn Avcapevov
AVGOUEVOL AvGapévng AVGOUEVOL
Avcopéve Avcopévn Avcopéve

Avcapevov Avcapévnv Avcauevov
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Avodpevol Avcapevat Avodpeva
AVGOUEVOV AVGOUEVOV AVGOUEVOV
Avcopévolg Avcopévolg Avcopévolg
AVGOUEVOLG AvGapEVOG Avcdpueva

Example #2. Present Active Participle Paradigm for pAénw | Class I, Unchanged Stem:

nom. PAiénwv BAémovoa BAémov

gen. PAémovtog BAemovong  PAémovtog
dat. Prémovt BAemovon BAémovTt
acc. PAémovta BAémovoav  PAémov
nom. PAémovteg BAémovoor  PBAEmovra
gen. Prendéviov  Premovodv  PAemdvtv
dat. PArémovouv) Premovoarg  PAémovoi(v)
acc.  PAémovtog BAemovoog  PAémovta

Present Middle/Passive Participle Paradigm for Aénw | Class I, Unchanged Stem:

nom. Piemduevog PAemopévn  Premduevov
gen. PAemopévov  PAemopévng  PAemopévov
dat. PAemouéve  Premopévn  Premopéve
acc. Piemduevov  Premopévnv  PArenduevov
nom. PAenduevolr  PAemduevor  PAemdueva
gen. Piemopévov PAremopévov  PAemopévov
dat.  Phemouévoig PAremopévarg Premouévolg
acc.  Piemopévovg PAemopévag  Premdueva
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1%t Aorist Active Participle Paradigm for pAérno | Class I, Unchanged Stem:

nom.

gen.
dat.
acc.

nom.

gen.
dat.
acc.

1%t Aorist Middle/Passive Participle Paradigm for pAérno | Class I, Unchanged Stem:

nom.

gen.
dat.
acc.

nom.

gen.
dat.
acc.

PAéyag
Bréyavtog
BAEyavTL
Bréyavta

Bréyavteg
BAreybviov
BAéyaoy

BAéyavtog

BAéyaoa
BAeyaong
BAéydon
BAéyacav

BAéyacat
BAEY oV
BAreyaoaig
BAreydoog

BAeyapevog
BAreyapévoo
Breyopéveo

BAreydpevov

BAreybipevor

Breyapévov
BAreyapévolg
BAreyapévoug

BAeyapévn
Preyauévng
BAreyapévn
Breyapévny

BAreydpevoarl
Breyapévav
Breyapévaig
Breyapévag

BAéyav
BAéyavtog
BAEYavTL
BAéyav

BAéyavTa
Breybviov
BAéyaoty
BAEyavTa

BAeydpevov
BAreyapévoo
Breyopéve

BAreydpevov

BAreybipeva
Breyapévav
BAreyapévolg
BAeydpeva
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Example #3.

1%t Aorist Active Participle Chart for Saxpow | Class 1, Unchanged Stems:

dakpOGOg dokpvcaco  dokpOGOV
dOKPLGOVTOG OUKPLGACTG  OOKPVCAVTOG
dokpOcoOovVTL  dOKPLGACT  dUKPVGOVTL
dakpvcavta  dakpvoacav  dakpOcaV
doKpLGOVTEG daKpHGOCHL  daKpHCAVTOL
SOKPLGAVTIOV dOKPVCOCHY  SUKPLCAVIWOV

dOKPLGOAGLY

1%t Aorist Middle/Passive Participle Paradigm for Saxpvow | Class |, Unchanged Stems:

dakpuedcals daKpHGUCY
JOKPLGOVTAG OUKPLGAGOG

dakpOGOVTOL

d0KPLGAUEVOG
dUKPLGOAUEVOL
JOKPLGOAUEVED

dOKPLGAUEVOV

dOKPLGAEVOL

SOKPLGAUEVDV
SUKPLGAUEVOLS
JOKPLGAUEVOVG

SUKPLGAUEVN
SUKPLGOUEVIC
SOKPLGAUEVN
dUKPLGAUEVIV

dUKPLGALEVOL
SOKPLGAUEVDV
SUKPLGAUEVOLG
JdOKPLGOUEVOG

S0KPVGAUEVOV
SUKPLGOAUEVOL
SUKPLGAUEV®

dUKPLGANEVOV

dUKPLGAEVOL
SUKPLGAUEVDV
SUKPLGAUEVOLS
dakpucdpuevo
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2. CLASS II:

2" Aorist Active Participle Paradigm for Aeino | Class 11, Lengthened Stems:

nom.

gen.
dat.
acc.

nom.

gen.
dat.
acc.

2" Aorist Middle/Passive Participle Paradigm for Asino | Class 11, Lengthened Stems:

nom.

gen.
dat.
acc.

nom.

gen.
dat.
acc.

MmOV
MIOVTOg
AMTovTL
Mmova

MIOVTEG
MToOvVIOV
MmTodoLV
MmovTOoC

Amovoa
Mmovong
Mmovon
Mmodoav

Mmodoaot
Mrovc®OV
Mmovooig
Mmovoog

MmopeEVog
MTopEVOL
Mmopéve

Mndpevov

Mmdpevol

Mmopévev
Mropévolg
Mmopévoug

Mmopévn
MIropEVING
Mmopévn
Mropévnyv

Mmdpevar
MTopévev
Mropévoug
Mmopévag

MmOV
MIOVTOg
AMTOVTL
Mmov

Mmova
MTOVTOV
Mmoo
AmovTOL

Mmdpevov
Mmopévou
MTOUEV®

Mndpevov

Mmdpeva
MTopéEVeV
Mmopévotg
Mmopeva
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3. CLASS IlII:

1%t Aorist Active Participle for kéntw | Class 111, T Class:

KOYOIG KOYooo KOy
KOYAVTOG Koydong KOWYAVTOG
KOYOvTL Koyaon KOYOvTL
KOyavta KOYoGoV KoYV
KOWOIVTEG KOyoool KOyovTa
KOYAVTOV KOYOo®V KOYAVTOV
KOy Koydoag KOYaoLV
KOYaVTOG Koyacag KOYovTaL

1%t Aorist Middle/Passive Participle for kéntw | Class 111, T Class:

nom.
gen.
dat.
acc.

nom.
gen.
dat.
acc.

KOYApevVog
KOYOUEVOL
KOYOUEV®D

Koy dpevov

Koydpevol

KOYOUEVOV
KOYOUEVOLG
KOYOLUEVOVG

KOYOUEVN
KOYOUEVNG
KOYOUEVT
KOYOUEVV

Koydpevor
KOYOUEVOV
KOYOUEVOLG
KOYOLUEVOG

KOWYOAUEVOV
KOYOULEVOL
KOYOUEV®D

Koydpevov

Koydpueva
KOYOUEVOV
KOYOUEVOLG
KOWYOUEVQ
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4. CLASS IV:

1%t Aorist Active Participle Chart for kopilw | Class IV, lota Class:

Kopicog
Kopiocavtog
Kopicavtt
Kopicavta

KOpoavTeg
KOUIGAVT®V
Kopicaoctv

Kopiocavtog

Kopicoca
KOHodong
KOUIGAOT
Kopicacav

Kopicacat
KOUIGOG MV
KOpodoag
KOG doag

Kopicov
Kopiocavtog
KopicavTt
Kopicav

Kopicavta
KOUIGAVT®V
Kopicaotv
Kopicavia

1% Aorist Middle/Passive Participle for xouilw | Class IV:

NOM. KOUIGAUEVOS KOUIGOUEVT]  KOUIGAUEVOV
gen.  KOMGOUEVOL KOUGOUEVIS KOUIGOUEVOL
dat. KopcOpéVE® KOMIGOUEV]  KOUIOOUEVE
acC.  KOMGAUEVOV KOUGOUEVIV  KOUGAUEVOV
noM. KOUIGAUEVOL KOUIGAUEVOL KOUIGAUEVOL
gen.  KOUGOUEVOV KOUGOUEVOV KOUIGOUEVMV
dat.  KoOHGOUEVOLG KOUIGOUEVOLS KOMGOUEVOLG
acC.  KOMGOUEVOUG KOUGOUEVOS KOUGAUEVQ

Asigmatic 1% Aorist Active Participle Chart for kpive | Class 1V, lota Class: &xpva.

Kpivag Kpivaca Kpivav
Kpivavtog Kpwaong Kpivavtog
Kpivavtt Kpwdon KpivavTtt
Kptvovto Kptvooav Kptvov
Kptvovteg Kptvooal Kptvovta
KpWavtomv Kpivacav KpavTmv
Kptvaowv KPVOG oG Kptvaov
Kpivavtog Kpwaoag Kpivavta

Asigmatic 1% Aorist Middle/Passive Participle for kpivw | Class IV: &kpwva.

nom. KPWOUEVOS — KPLVOUEVT KPIVOULEVOV
gen.  KPWOUEVOL  KPWHEVNG KPVAPEVOD
dat. xpwopéve  Kpwvapévn KPWoUEV®D

acC.  KPWOAUEVOV — KPWOUEVIIV  KPWVALEVOV
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nom. kpwvapevol
gen.  KPWOoUEVQV
dat.  xpwopévolg
acC.  KPWOUEVOLG

Kpvépeval
KPWVOUEVOV
KPLVOLLEVOLG
KPIVOUEVOG

Kpvapevo
KPWVOUEVOV
KPVOAREVOLG
KPIVALEVOL

2" Aorist Active Participle Paradigm for aAlo using the stem of &Boov | Class 1V:

nom. BoAdv
gen. BdArovtog
dat. Bdrovt
acc. Pdrovta
nom. PBdaiovreg
gen. Pordviov
dat.  Bdarovouv)
acc.  Pdéiovrog

2" Aorist Middle/Passive Participle Paradigm for BéAie using the stem of £Boov | Class IV:

Barovoa
Baiovong
BaAiovon
Barovcav

Barovoat
BaAovodv
Barovoaig
Baiovcag

nom. PBoAduevog
gen. Paiouévov
dat.  Bolopéve
acc.  Paroupevov
nom. PBoaAdpevol
gen. Polopévov
dat.  PBolopévoig
acc.  Paiopévoug

Boaiopévn
Baropévng
Boaiopévn
Baropévnv

BaAropevar
Baropévav
BaAiopévarg
Baiopévag

BaAov
Baiovtog
Barovrtt
Boaiov

Barovta
BaAdovimv
Barovo(v)
Barovta

Baiopevov
BaAiopévov
Baropéve

BaAropevov

BaAropeva
Baropévav
BaAiopévorlg
Boaiopeva
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5. CLASS V:

2" Aorist Active Participle Chart for pavOéve | Class V, N Class:

pabmv
noaBévtog
pnabovt
pafovta

noovTeg
pnafoviov
poabovot

pabévtag

2" Aorist Middle/Passive Participle Chart for pav0éve | Class V, N Class:

pafodoa
poabovong
pafovon
pobodoav

poabodooat
pnafovcdv
pofovoag
pabovoag

paBoépuevog
paopévov
poBopEVe

pafopevov

pafopevor

pofopuévmv
pafopévorg
pofopévoug

2" Aorist Active Participle Chart for Aoupdve | Class V, N Class:

poBopévn
paBopévng
poBopévn
pafopévnv

pafopevar
pofopuévmv
pafopévang
pobopévog

Aafov
Aapodvtog
Aafovtt
Aapovta

AaPovTeg
Aafoviaov
Aapodot

Aafovtag

2" Aorist Middle/Passive Participle Chart for AapBdve | Class V, N Class:

Aafodoa
Aapovong
Aafovon
Aapodoav

Aapodoat
Aafovcdv
Aapovoorg
Aafovcag

Aapopevog
Aafopévou
AoPopéve

Aafopevov

AaPopévn
Aafopévng
AaPopévn
Aafopévnv

pnafov
naBévTog
pnabovtt
paov

pooévTa
pnafoviov
pobodot
poafdvta

pafodpevov
pafopévou
poOopUEVE

pafopevov

pafopeva
pofopuévmv
pofopévorg
pafodueva

Aafov
Aapovrog
AafovTt
Aapov

Aapovrta
Aafoviaov
Aapodot
Aafovta

Aapopevov
Aafopévou
Aopopéve

Aafopevov

27



Aapopevol

Aafouévav
AaPopévoig
Aafouévoug

Aapouevor
Aafouévav
AaPopévarg
Aafouévog

Aapopeva
Aafouévav
AaPopévorg
Aafoueva
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6. CLASS VI:

2" Aorist Active Participle Chart for méoyw (root: né8-cke) | Class VI, Inceptive Class:

wobmv
nafovTog
TooovVTL
modovTa

nafovTEG
nafoviov
noafodaot

nafovtog

2" Aorist Middle/Passive Participle Chart for maoyo (root: né8-ckwm) | Class VI, Inceptive

mobodoa
nafovong
wafovon
nododoav

noafodoot
nafovcdv
nabovoaig
nafovcog

Class:

mafopevog
nafopévou

nabopEVE
nafopevov

nafopevol

nabopévov
nafopévolg
nafopévoug

2" Aorist Active Participle Chart for evpiokm. Class VI, Inceptive Class:

evpaV
evpdVTOC
evpoVTL
evpodvTO

evpovTEC
evpoVTOV
gvpodotl

evpdvTag

wafopévn
nafopévng

nabouévn
nafopévnyv

mafopeval
nabouévov
nafopévaig
nafopuévog

gvpodoa
ghpovong
ghpovon
gvpodoav

gvpodoat
e0poVCAYV
gvpovoIg
gvpovoag

Tooov
nafovTog
ToooVTL
ooV

modovTa
TofovVTOV
mododot
mobovta

nafopevov
modouévou

modouéve
nafopevov

madopeva
nabopuévov
nafopévolg
naboueva

Y
evpoVTOC
evpoVTL
evpoV

evpdvTU
evpoVTOV
gvpodot
evpdvTa
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2" Aorist Middle/Passive Participle Chart for ebpiokw. Class VI, Inceptive Class:

gVPOLEVOG
€0POUEVOL
EVPOUEVE

evpoEVOV

gvpoOLEVOL

e0popEVOV
EVPOUEVOLG
€0POUEVOVG

EVPOUEV
e0popEVIG
EVPOUEVT
eOpopEVIV

gvpopEVaL
e0popEVOV
€VPOUEVOILG
evpopévag

gvpoEVOV
evpopévon
EVPOUEV®D

evpodEVOV

gvpouEVaL
eOpopEVAOV
EVPOUEVOLG
evpodueva
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7. CLASS VII:

1%t Aorist Active Participle Paradigm for ¢i\éw | Class VII, E Class:

@uodV
(PUAODVTOG
QULodVTL
QuAodVTOL

(QUAODVTEG
PULOHVTOV
euodol(v)
QUAODVTOG

Quodoa
QLAovoMNg
Q1rovoT
QuAovdoaV

QuAodooL
PILOVGHV
QLA0V001G
QLUAOVC0G

QuodV
(PLUAODVTOG
QrLodVTL
(QLAODV

QuAoDVTO
PULOHVTOV
euodo(v)
euodvta

1%t Aorist Middle/Passive Participle Paradigm for ¢iléw | Class VII, E Class:

QUAOVUEVOC  OLAOLUEVY  @LAODUEVOV
QULOVUEVOL  QLAOLUEVIC  GLAOLUEVOL
QUAOVUEV®  PLAOLUEVY PULOVUEV®
QULOVUEVOV  QIAOLUEVIIV  LAODUEVOV
@UoLHEVOL  QurAoDUEVOL  QLAOVUEVOL
QUAOVUEVOV  PLAOVUEVOV  PIAOLUEVOV
QULOVUEVOLS  QIAOVUEVOLS  PLAOVUEVOLG
QUAOVUEVOVG  PLAOLUEVOSG — PLAODUEVA
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8. CLASS VIII:

2" Aorist Active Participle Paradigm for opdw | Class VIII, Mixed Class:

gldmVv
€106vTog
€loovTt
gidovta

€106vTEG
E0OVTOV
gldodot

elodvtag

2" Aorist Middle/Passive Participle Paradigm for opdw | Class V111, Mixed Class:

gioodoa
gldovong
gldovon
gldodoav

gldodoan
€100VOMV
gldovoag
gldoovoag

€100 EVOG
€100LEVOV
el0OUEVE

€106 EVOV

€106 EVOL
eloopéEVDV
€100UEVOLG
€l0oopéEVOLG

2" Aorist Active Participle Paradigm for €pyopou | Class V111, Mixed Class:

ENOGDV
EMOOVTOC
ELOOVTL
ENOOVTO

EMOOVTEC
EMOOVTOV
EMBodGL

EMBOVTOG

gloopévn
€100UEVIG
gloopévn
eldopuEVIV

€ldodueval
elooOUEVDV
eldopévag
gldopévog

E\Bodoa
EMBovong
gABovon
ENBodoav

EMBodoat
EMBove DV
EMBovcag
EMBovcag

IO
€106vTog
€ldovTt
IO

gidovta
€idOVTOV
gidovot
gidovta

gloduevov
€100pEVOL
EL0OUEVQ

€lodevOV

eldodueva
eloopéEvVmV
€loopévolg
elodueva

ENOOV
EMOOVTOC
ENOOVTL
EAMOOV

ENOOVTO
ELOOVTOV
£é\Bodo1
ELOOVTO
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2" Aorist Middle/Passive Participle Chart for €pyopat | Class VII1, Mixed Class:

EAOOUEVOC
EMBopévou
EMOouEV

EABoUEVOV

IR

EMBouévav
EMBopévorg
EMBouévoug

2" Aorist Active Participle Paradigm for Aéyw Class V111, Mixed Class:

ginov
glondvtog
eimovTL
ginovia

EMOVTECG
eindvtov
glmodot

elmovTog

2" Aorist Middle/Passive Participle Paradigm for Aéyw | Class VIII, Mixed Class:

EABouévn
gnBopévng
EABouévn
ENBopévnyv

ENOOpEVL
EMouévav
EMBopévarg
EMBouévag

gltmodoa
glmovong
glmovon
gtmodoav

gtmodoat
gimovodv
elmovoag
elmovoog

elmopevog
glmopévou
ElMOpEVE

elmopevov

elmopevol

elmopévov
elmopévolg
elmopévoug

elmopévn
elmopévng
glmopévn
elmopévnyv

elmopevat
elmopévov
elmopévoug
elmopévog

EAOoOuEVOV
EMBopévou
EMOopév

ENBouEVOV

ENBOUEVL
EMbopévav
EMBopévorg
EAOOLEVL

gindv
€lmovTOoC
eimovTL
gindv

gimovia
gimovIOV
gimodotl
gimovro

glmopevov
elmopévou
elmopéve

elmopevov

elmopeva
elmopévov
elmopévolg
elmopeva

Finis.
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